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(235-147)+2+1=45
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JEHESREE 0 24x9=216

15 146-216+70=146+70-216=0
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42-4=38

38+42=80

( D )4. A clerk bought 106 black markers and 140 more red markers than the black ones. She
packed the markers equally into 4 bags. How many markers were there in each bag?
(A)41 (B)68& (C)78 (D)88
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106+140=246

246+106=352

352+4=88 » #E D -
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1412-1312=100

100+4=25

1412-25=1387
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[[]=(48-3)+9=5 » #E B -

2000ml

( A )10. How much more water must be poured into the beaker(£5F) to get 1400 ml?
(A)650 (B)645 (C)655 (D)660 ml
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2000+8=250

250%3=750

1400-750=650
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(A )16.Which angle is the smallest(F¢/]N)? (A) A (B)«B (C)~C (D) unsure
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/C>/B>/A
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(A)88 (B)92 (C)82 (D)98
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10/A\8=10%9-8=82
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14000-2800=11200
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12:00-09:30=2:30
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160x4=640

640x3=1920

1920x10=19200
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(B )22. The total mass of a box of 8 papayas 1s 7 kg, If the mass of each papaya is 750 g,
what 15 the mass of the empty box? (A)800 g (B)1 kg (C)1 kg 200 g (D)1 kg 400 ¢

<fEt>

750x8=6000

7000-6000=1000

1000g=1kg
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(A)P>Q>R (B)Q>P>R (O)Q=P=R (D)R>P>Q
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P=400x3=1200

Q=200x6=1200

R=100x4x3=1200
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